1. Which among the following (State — Coal @“ fer

region) is correctly matchéd? gl gﬁﬁ—lﬁ 87 . qfee™ el —
(A) Madhya Pradesh — (B) west Bengal - (A) TegueY — XHIG (B)
Ramgarh Betul : ' :
(C) g)dislf)\al— (D)'j’harkl’.\and— (C) SN — YR (D) IRES — XIS
ambalpur uja A
2. Which amoFr)lg the foIIowingS?l;igvc:r— ~ W i 9 a?\FR:IT (:{é’[ ﬁﬁﬂ) :
| Associated District) is not correctly matched? . ﬁeﬂ%ﬁ el &7
(A) Kakni - Jaisalmer ~ (B) Banganga - Jaipur (A) FTHIN — SRITR (B) aTUITITﬂ WAR
(C) Vatrak - Banswara (D) Dai - Ajmer ' (C) I@ — aiwareT (D) &S — 3R
3. Which of the following will get irrigation 3. fy=ifea A & fo= WA 98] RIS T}f
benefits from the Parvan Mega project? : Rfarg gfaem frer? B i
(A) 637 villages of Jhalawar, Baran and Kota (A) ZITerTaTS, IRT 3R @rer Rl ® 637 T4l
districts ' "Bl .
(B) 33% v;l!ages of Bundi, Kota and Baran | - (B) g4, FreT 3R IR et @ 5.35 q‘i—cﬁ aﬁv .
- (C) 6|3S7nvcillages of Jhalawar, Bundi and Kota © %IEIIHIS, @ IR drer frell 637 idl
(D) :Ea’sér:'lclsages of Pratapgarh, Jhalawar and | (D) gaT9iTe, STelars Sﬁ? BIcT ﬁl?ﬁ % 535
Kota districts Tifal
4 When was President Rule imposed in yﬂ? I gAg # U 9gAd E?\v‘ ?h'RUT
Rajasthan due to unclear majority in the ORI H '\’T‘?{Wﬁr W B AT TR
Assembly.EI‘e,ctions? ' | = oqT?
(A) 1977 - (B)1967 - - | (A) 1977 " (®) 1967 .
(C) 1992 (D) 1980 . (C) 1992 (D) 1980 |
5. As per Census - 2011, the district having least 5 SUM-2011 @ TR, RTorer F et forey
rural sex ratio in Rajasthan was - pod # rior feframa I T O, 98 R —
(A) Tonk "~ (B) Dholpur _ (M) T (B) thegr |
(C) Jaisalmer (D) Barmer - ©SgeER (D) TTeiR
6. Which leader of the Marwar Lok Parishad died - \S/E#a A =g B %Wrrqs T TSATd B HR
_ in June 19, 1942 due to hunger strike against ARATS b qﬁqa’ B m AT DY T 19 Tr[fi, Fos
injustice.in Jail? ' _ . 1942 B
(A) ?::pn\:/aar tal  (B) Anand Raj Surana’ (A) Wz Fﬂﬂ ?TFﬁ ® STFE{ T TR
(C) Bal Mukund Bissa (D) gartmhod Das . . (© T e - (D) WT@WH‘T@T%
attani
. Planning Commission has been replaced by 7. AT SERT &1, QT MY W ¥ Q. ﬁﬁqz%
which of the given Institution? | R uforenfoq foran jul .
(A) National Development Council _ (A) I fyer qﬁﬁﬁ o E
(B) NITI Aayog ' (B? HURES i S
(¢) Finance Commission of India ~ * - (©) YR &1 A amam
) Investment Commission of India - (D) IRe 1 e amim
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. about @ compromise between
cague and Congress, in 19167
spal Krishna (B) Bal Gangadhar
Gokhale Tilak
<) Surendranath (D) Annie Besant
Banerjee
) When was the Revenue Board established in
Rajasthan?
(A) 1949 (B) 1955
- (C) 1947 (D) 1951
10. From which tree ‘Katha’ is extracted in
Rajasthan? ' :
(A)-Palas (B) Khair
(©) Khejri (D) Dhok
11. As per Census 2011, which state of India has
the highest sex ratio? '
(A) Chhattisgarh (B) Tamil Nadu
(C) Andhra Pradesh (D) Kerala
12. Who among the following was honoured with
the Nari Shakti Puraskar on International
Women's Day 2022? )
(A) Batool Begam (B) Vasundhara Raje
(C) Mamta Chouhan (D) Usha Sharma
13. Labour Bureau, Shimla releases Industrial
Labour Consumer Price Index’ (Base year-
2016) for ‘'which centers in Rajasthan from
September-2020? : .
(A) Jaipur, Jodhpur,  (B) Alwar, Bhilwara,
Bikaner Jaipur
(C) Alwar, Ajmer, (D) Ajmer, Jaipur,
Jaipur Bhilwara
14. Ratanada airport provides services to -
(A) Jodhpur .~ (B) Bikaner
(C) Kota (D) udaipur
15. In'which of the following tribes, the marriages
named Tanna and Mor Bandhiya are
prevalent?
(A) Meena - (B) Sansi
(C) Bhil S ”,l(l_)) Garasia _
16 At which level of Panchayati Raj a “Sathin” is
selected as an ‘Honorary Woman Worker’ for
women development programmes?
(A) Pan¢hayat — Samiti (B) Gram — Panchayat
(C) Block level (D) Zila - Parishad
131C
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10.

11.

- 12,

13.

14.

15.

" 16.

1916 #, gRer T IR Hirg @ 4 i
Ry apearall o7

(A) TaTd ‘cFUJT JIER (B) q1a1 TR e
(©) W goil * (D) T 9¥e

. o A IO eR @ e w
0 |
(A) 1949 (B) 1955
(C) 1947 (D) 1951
o A fpd 8 W dem Farer S
14
(A) T (B) ¥
(©) Tl (D) &1
Wzonzhaqgg«,m?ﬁﬁmm_
(A) BARITE (B) AfeTTTg
(C) arfer waer (D) e

iRty wfear faw — 2022 R, AN Al
Wﬁﬁqﬁfﬁgﬁﬁﬁ,ﬁ?ﬁwﬁﬁm :
T 8?

(A) 9T T (B) gGERT TSI

(C) wwaT A8 (D) Syt It

s 2Ry, Reren, RdaR—2020 9 IoRE @
I AFHIH (MR q¥—2016) SR BT 87

(A) SRR, MR, (B) areraR, “ierarsT,

(C) IreTaR, ISR, (D) 3SR, SR,
STAYR HrerarsT '

(A) SEgR Y ®) R

(C) PreT B (D) SEIR B

ol U9 AR d§ftrn faaw, e ) few
SHeTfa § yafed €7

(A) Hory (B) &Y - d
© o Bz

| (D) TRy

T I @ 5w WR W e e B
mmﬁ?ﬁﬁfzﬁmﬁﬁﬁmmﬁ? "
W) Yar—afify () gm—varag

© <=ite v~ (D) Ryem—uRwa




17.

18.

19.

20.

21.

22,

- 23.

¢ 24,

25.

- (C) Kota

- (C) Hadoti Plateau

Which of the foillov'ving Indus Valley Ci\'/ilizatif)n
site is included in UNESCO World Heritage list

in July 20227 .
(A) Kalibanga (B) Dholavira

(C) Mohenjo-Daro- (D) Balathal
Malaj Khand is associated with which mineral

production?
(A) Iron Ore (B) Copper

(C) Diamond (D) Lignite

Which type of forests are found in western
slopes of the Western Ghat?

(A) Monsoon (B) Tropical Evergreen

(C) Savanna (D) Alpine

What. is not correct with respect to

GSTIN?

“(A) It is a 16 digit and letter code.

(B) Its First 2 digits are the state code.
(C) Itis 15 digit and letter code.

(D) It contains the PAN Card number of the .

individual or business.

On which river is the Salal Project located?
(A) vyas (B) Chenab

(C) Jhelum (D) Ravi

The major producing region of soybean in
Rajasthan is - ‘
(A) Semi-Arid (B) Eastern Plains

(D) Mahi Basin

An objective of the National Food Security

Mission is to increase the production of.

certain crops, which are -
(A) rice, wheat and pulses
(B) rice, wheat, pulses,

vegetables :
(C) rice, wheat, pulses and oil seeds
(D) rice and wheat

Which among the following is related to Lord

Curzon?
B

oil seeds and

(A) Partition of Bengal in 1905

(B) Government of India Act, 1909
(C) Universities Act, 1920

(D) Indian Council Act, 1892

Where is Lok Kala Mandir located?

(A) Ajmer (B) Jodhpy

(D) Udaipyr
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23,

18.

19.

20.

, 22,

24.

R BTt TR & oy orer oy

§ e 3 e T eTlg 2022
¥ e P e 3 e oy
(A) BTl (B) eherrdiey
(C)Hﬁ?\?ﬁ‘q’g‘[ (D) qTeTreT

ATl G

i .%@ﬁmmaw@,ﬁ
(A) A8 3wm (B) qiar

(© ¥ (D) firrge
aReHl B & oRedr g

CRRCINAT I mea}
(A) ATRLH (B) Swrpfaiy -

(C) Har (D) 3eqre

gzr.w.éﬁ.mmwz%mﬁwwﬁaﬁ

(A) & TH 16 3% TT AERT &7 Fre |

(B) e M 2 3% X7 BT B B &

(C) TE TP 15 35 T seRl o7 Bl &

(D) 39% e 1 W™ & U P THR
[HIRT B £ | L

FeTTer URAT e 7 W Rerg #7

(A) @ . (B) R

(C) Srem o :
REACIE A GG R S S L
T - . 3 f;
(A) arg - (B) gt Ha -
'(C)g@-;ﬁqarq S (D) A AR

T @ gRe R @ Uh s%wagv
bl & oared A gfg HET E, I E -
(A) =7eer, 8 3R et "

(B) wrrer, 13, a1, foeret Si¥ et

(C) =ae, T, Tl 3R fereTe

(D) et aiR TE L

I %ﬁaﬁ@ﬁ’ﬁ@‘mﬁmﬁﬁﬁ?
(A) 1905 T Tl P1 faHTaT

(C) frsafened aiffAgd, 1920 -

' (D) ey Rt IR, 1892

25.

S o AfeeR @ I €7
(A) 3R . {B) =gy
' (D) ISR

(C) pieT
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26. \Who among the following Was not elected in 26. ﬁmr%ﬁaﬁ ki Eﬁh RIS A X gl
Rajya Sabha elections 2022 in Rajasthan? 2022 H foraifed el BT ofr?
(A) sh. Mukul (B) sh. Ghanshyam (A) 5t gl P (B) it T fa

Balkrishna Wasnik Tiwari araf® '
(C) sh. pramod kumar (D) Sh, Subhash (€) 5 T BAR (D) ) GATY T
Chandra :

27. In wHich year ‘Chief Minister Raj Neer Scheme’ - 21. NSRS § gEEl AR drorr fow ad
was declared in Rajasthan? o % wifr B TP -
(A) 2019 () 2015 (A) 2019 (B) 2015
(C) 2020 (D) 2021 (C) 2020 (D) 2021

26. Which are the highest population districts of 28 2011 @ SITIVFI & SRR, WO
Rajasthan, according to Census - 2011 "H'rma?ﬁ GFRT@TT qa R g -
(Descending order)? (3raRTEr H)
(A) Alwar-Jaipur-Nagaur-Jodhpur (A) W—W—Wﬁ'\’—?ﬂ\rﬂg’i’
(B) Jaipur-Jodhpur-Nagaur-Alwar (B) TTOIR—SITEIgR—TIR—3TeTaR EE
(C) Jodhpur-Jaipur-Alwar-Nagaur (C) SRS R—IATR—A R |
(D) Jaipur-Jodhpur-Alwar-Nagaur ‘ (D) mgq.—\—rhug‘\’— ATR—TR

29.  Which of the following cities will host the 2025 29. 7025 favg voifed dfaRra @ AoErE
World Athletics Championships? 1 & [ P AT IR AT
() Tokyo (B) Budapest (A) e (B) gemRe
(C) shanghai (D) Paris (C) weng (D) IR

30 High Court of Rajasthan was inaugurated by 30 YoM $od =UMTerd &1 IEETET RIS
Rajpramukh Sawai Mansinghon -~ ! ATE AARTE ETRT. H foar
(A) January 28t, 1952 (B) Augusf 29t 1949 e i o "

" ' ' (A) 28 S77a¥1, 1952 (B) 29 3T=d, 1949

(C) March 27, 1951 (D) January 28, 1950 ; (C) 27914 1951 (D) 28 S=aRY, 1950

31. In Rajasthan, where is the first Tribal Child 31 TSR &Y Yge WA 916@ S Qe
Hockey Academy established? HEl RIfUT B T 87
(A) Udaipur (B) Bhilwara (A) SR H (B) ¥retarer #
(C) Kota ‘ (D) Dungarpur (C) ®reT ¥ (D) YRYR H

32. Who among the following leader was in the 32 RAOR I B WaFar ASeT o ﬁz:{ i
Independence Movement in Bharatpur state? B9 TF - A4? :
(A) Tikaram Paliwal - (B) Kishan-Lal Joshi (A) SSRM ureliarad (B) 59 o Gﬁ?ﬁ
(C) Mangal Singh (D) Shobha Ram (C) HaRig gt (D) =T v1M ”

Sharma -, _ : \

33. Which song of ‘goddess was sung by the 3. FIHe FlY T QEr A e TSt @ W

‘Kanfate Jogi’ with Damru and Sarang;? &g 2§ & Mg Ty &
~ (A) NagnechiMata  (B) Sheetala Mata (A) 9o AT (B) sfiqer HT?IT _
(C) sakrai Mata ° (D) Jeén Mata - (C) WTII AT (D) <fror w7y
BIC Pacho'f24



34, Which one of the following (Folk drama -
Place) is not matched correctly? |
(A) Nautanki — Bharatpur, Dholpur
(B) Rammat — Bikaner, Jaisalmer
(C) Turra Kalangi—
(D) Tamasha —Jaipur
Angotia,

Marwar

35. Ognia, Surliya ornaments ar
worn -

(A) on wrist
(C) on head

- 36. The first UDAY (Utkrlsht Double Decker Air-x~
Conditioned  Yatri)
between -

(B) on feet

- (D) in ears

302687’1

131

Express train run
(A) visakhapatnam and Vuayawada
(B) Bengaluru and Coimbatore
(C) Chennai and Visakhapatnam
(D) Delhi and Kalka
37. Who has built the Shiv Temple of Badol
(Kota)?
(A) Mihirkula
(C) Bhoj Parmar
"“Illa na deni, aapni, halriya hulraaye.
Poot sikhave palne, maran badai maaye.”
The above lines are taken from which book?
(A) Prithviraj Raso- ° (B) Vansh Bhaskar
(C) Kanhad-de- (D) Veer Satsai
Prabandh ‘

39. There are a total of 75 Ramsar sites in India by_

[z

1313026871

(B) Bhoj Pratihar

- (D) Toramana
38.

1313026871

August 2022, which state has the maximum >

number of Ramsar sites?
(B) Himachal Pradesh 8
(D) Madhya Pradesh ~—

(ap)

(A) Tamil Nadu

(C) Uttar Pradesh
40. The Ministry of Youth Affairs and Sportsv

announced the Major Dhyan Chand Khel

Ratna Award for the year 2022 to ‘Achanta
Sharath Kamal’, he is related to which sports?

268

.34.f3‘|17-|ﬁ.‘fﬁ§ﬁﬁ—\,§r?ﬁqw(m

- 35.

36.

37.

38.

- 39.

40.

T - =)

gAferT TE 87

(A) AcH — H'\’a'g-\r sﬁ'(:fgq
(B) XM — fiHTR, SRTerR
(C) qRT el — ARarg

(D) TR — SRIqR
gmﬁm,@mﬁngy%m;aHWT%ﬁaﬁ
(A) PeTlg T (B) U} #

©) fR W (D) BT #

YoM S5 (STPE $q¢ SR AR AT

'W%Wﬁaaﬁﬁ? '

(A) faemamuzTH QiR fasraareT
(B) ST% 3R FIIacR

(C) T=ig 3R fawmamyzH
(D) fecelt 3R BT

mﬁﬁ(ﬁa)%f%x#%varﬁﬁnﬁmﬁ
BHATYGT?

(A) fAfexge (B) W7 ufeR

(€) 9 AR (D) FRHTYT
"gell 7 Foft, oo, BTIRAT ol |

g Rard gre, RO 9913 A Il

Eﬂﬁﬂﬁmﬁmu‘mﬁ?ﬁﬂéé?
(A) gedRTST 1T (B)ETETW
(€) Fress wew (D)‘cﬁwa—\q—g

,Wzozgwwﬁmﬁwwé

T W wEife TR e fhw wog @
&2

(A)ﬁﬁi?ﬁzg .(B)%Hra?-ruésr

(©) SR g (D) 7ew gy

a1 At 3R Wl HATT 7 9 2022 FT Ao
STES Wel X1 [RVPR ST IRT HHeT oy
< Bl U B T, TR e e @y
27

(A) Table tennis (B) Lawn tennis (A) <qe1 2 (B) &9 2fy
" (©) Chess (D) Badminton (©) ;R - (D) dsfie
Page 6 of 24
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*1. Human Poverty Index (HPI) measures the 41. W.’m—eﬁ ﬁaai_ia; (Tadrans) @a @ wH
deprivation as a composite index of - & U H A R —

(A) longevity, knowledge and standard of (A) drafg, S AR g =R
living | Srgfg, T 3R
. (B) longevity, nutrition and knowledge Gl ' b
(C) longevity, standard of living and sanitation () drafg, SN TR AR wesd
ing (D) 5T, AT SToRd iR Sia w/R

42. \Which river basin of Rajasthan is in second 42. G IUAEdl P JUR W B G T4 IRA

13026871
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position in terms of water availability? K Jrorer # e I w22
(A) Banas Basin (B) Sabarmati Basin €9 (A) g R (B) graxHT 4R
(C) Mahi Basin (D) Luni Basin Q ok (D) oAt 9

43. Who among the following is not a master of% 43. =i @ P WS M Rrgewd T &7
Maand singing? | .C"f—') (A) TG 98 (B) areatre RfeTg 918
(A) Gavari Bai (B) Allah Jilai Bai ~— (©) a=i T (D) W

(C) Banno Begam (D) Gulabo

44. \Which of the following statement is not true? <— 44 ﬁﬂﬁ;rﬁ'gﬁ F P BUT I 7
(A) All the Ministers of Rajasthan are Cabmet'\ (A) ORI @ T FAl BfIe w3 €|

Ministers. O (B) YroRei § FHA AR 30 WA B WH -
(B) Rajasthan can have 30 Ministers includingg $
the. hlefMlm.ster oM (©) e : R o E
(C) Cabinet have important departments. ;‘) b , 3 ¥ wE @ )
(D) Presently there is no Deputy Minister in <= (@) = ,” i ERER H A ST
6| the Government of Rajasthan. T
45. Fiscal Policy in India is formulated by- — 45 Ra H was‘w‘im A fras §T\’T TR B
" (A) The Finance Ministry B ' STl 87 :
" (B) The Planning ‘Commission 0 () fas #3TeTd 5 e
(C) The Reserve Bank of India & (BT B
T evReser\{(‘a_ ank o { & (©) R ﬁ'ﬂ’cfi\l‘cﬁ _

(D) The Secur'itiés and Exchange Board OfI“diac";") (D) 9™ ufenyfar SIREIRERIEIS
46. \What is the sectoral contribution of the Gross¥— 46- ¥ 2021-22 F Jrord # ST &7 &1 R

State Value added by the industry sector in (2011-12) Eﬁﬂ?ﬁ R I G T 5
Rajasthan at the basic constant (2011-12)

prices in the year 2021-22? &
(A) 26.34% - . (B)24.80% (A) 26.34% (B) 24.80%
(C) 2815% ... (D)32.20% (C) 28.15% (D) 32.20%

“47. Which writer na-r‘ned the books after tf\e name 47. fg TUBR .f{ A TRl @1 M fFTR
of Bikaner Maharaja Anoop Singh? - WERTST 3" 48 & H W X oT? |
(A) Lochan - (B ;233\’ Narayan (A) S ~_ (B) ggg ARTAV <@

' c fge (O
(C) Pundrik Vitthal (D) Bhav Bhatta () grsR® g -

131C ' Page 7 of 24



48.

51.

52.

" (A) Akbar

HPCL Rajasthan Refinery Ltd. is@ Jomt venture

petween Hindustan Petrole
Limited (HPCL) and povunment of Rajasthan
with an equity participations of -

(A) 74% and 26% (B) 68% and 32%

respectively ‘,: respectlvely
(C) 72% and 28% 4= (D) 56% and 44%
respectively S respectively

- following pair (Political Activist —

Which of t
“rincely state) "is not correctly

"atched?
) vithalal Vyas — Jaisalmer
shupendranath Trivedi — Kota
Kishanlal Joshi — Bharatpur
D) Pandit Harinarayan Sharma — Alwar

Match the following —

Folk Deity Birth place
- (1) Gogaji (i) Santhu
(2) Pabuji (i) Dadreva E
. (3) Hadbuiji (i) Kohu :
(4) Fattaji " (iv) Bhundol
" Code - ;

(A) 1-ii, 2-iii, 3-iV, 4-i  (B) 1-i, 2-ii, 3-iii, 4-iv
(C) 1-iv, 2-ii, 3-iii, 4-i (D) 1-iii, 2-i, 3-ii, 4-iv
The author of ‘Beli Krishan Rukmani Ri’,‘was
the court poet of which ruler?

(B) Maharana Kumbha

(C) Shah Jahan ~ (D) vigraharaja IV

Two statements are given below, one labelled

as Assertion (A) and the other as Reason (R) —

Assertion (A) : Dadabhai Naoroji founded East
‘ India Association in London.

Reason (R) : He wanted to influence the British
' Public Opinion.

In the context of the above two statements,

which one of the following is correct?

(A) Both (A) and [R) are true but (R) is not the

- correct explanation of (A)
(B) Both (A) and (R) are true and (R)is correct
explanation of (A) |
(C) (R)i Is true but (A) is false
(D) (A) is true but (R) is false

131C

um Corporation -

48

49.

50.

51.

52.

‘ |'

Qﬁdﬁﬁw o Ros - fafis,
Regw™  Ugiferm  BfoRTA fafice
(o N A7) Te IR ARER T 7 fe
3fad) ATiER T g S 87

~ (A) I 74% TG 26% (B) sHHRT- 68% Td 32%

(C) THHI: 72% TG 28% (D) PRT: 56% Ud 44%

frefofad § @ w1 @ FH QERUREE

et — < Rarad o) gl el

1o

(A)tﬁmwm~mﬁ?

(B) i 33t — @pler

(C) fopereral Sl — WRAYR -

(D) tf¥d BRARTGOT IAT — 3TeaR

FHfera BT —
b gdm

kb a2

(TR~ ()R
(z)m@M.)m

3) g@g\vﬁ\—\m,) PE,

(4) wefret! (iv) Tt

W e

(A) 1-ii, 2-iii, 3-iv, 4-i  (B) 1-i, 2-ii, 3-iii, 4-iv
(C) 1-iv, 2-ii, 3-iii, 4~ (D) 1-iii, 2-i, 3-ii, 4-iv
ol fobem ol & & <afaan, &9 masd
P TNERT Bid A?

(A) 3rpaR (B) #HERTOT G

(C) wmeTEf (D) fawrexTSt =rgiel

I 71w Ry U €, U B A (A)
3R T B HRY (R) HET TAT & —

AMFHU (A) : TRTS ARGH o dgd A g%

' SfEar TAIRTTIH BT T @9 |
PR (R): 98 ffewr S a1 wfae e
=Med oA | -
- ST QP B Al A, Frfelm 4 @
BT TH HE 8?
(A) T () 3R (R) W & ARPT (R), (A) Y
e Rl 8l Bl ©

- (B) 3 (A) 3R (R) W & QIR (R), (A) FY W

RYT Pl ©

(©) (R) T 2 AP (A) ardem &

(D) () wieg & <fH (R) s @
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53. As per Koppen's climate classification, which
type of climate is found in Dungarpur and

Banswara district?

(A) Aw (B) Cwg
(C) BWhw (D) Bshw

54. Which (Mineral — Mining Area) is not correctly
matched?

L (A) Dolomite - Bajla—Kabra

- (B) Lead & Zinc - Rampura-Agucha
_ () Fluorite - Mando-Ki-Pal

(D) Rock phosphate - Barodia

53.

54.

Smamﬁraiﬁﬁmmﬂﬁ‘mgq@—m
e

(A) Aw (B) cwg

(C) BWhw (D) BShw

B @ (@G &) gafea Tl
4

(A) Sreimrge — dTSTell—dTaRT

(B) ¥y 3R STl — RTHYRI-3F[AT
(C) TeiRTEE — HiSI—®I—TTel

(D) }fep wIEbe — aRIRAT

J:x

55. vedanthangal Bird Sanctuary is situated at - 55. JqreriTet Uell SPIRvY Rerd g —
(A) Kerala (B) Tamil Nadu (A) ava | -(B) afferrg |
(C) Karnataka .(D) Andhra Pradesh (C) Heitcd H (D) amiyr e H
56. Which (Cattle fair and District) is not correctly 56. w1 (ag] Hell IR forem) T8 ?j’ffﬁ'lﬂ &l
matched? _ 27
(A) Gogamedi Cattle Fair - Hanumangafh (A) TRTAET TYAET — ETAMTG
(B) Shivratri Cattle Fair — Sawai Madhopur " (B) Raxify agHel — HaTg AR
(C) chandrabhaga Cattle Fair — Jhalawar | (C) =TT UYHeT — HATCIdTS
(D) Ramdev Cattle Fair — Nagaur (D) IFeE ggHe — AR
57. |n January 2022, Central Government’s ‘PM 57. SEOS) 2022 B, P RGN b GLGA. arn
_WANI Yojana’ started in which district of ST T AR XIS B for forer % forar
Rajasthan? . e :
“(A) Pratapgarh (B) Jodhpur (A) TG (B) SRIgR
(C) Sikar (D) Jaipur - () ¥R (D) STIYR
58. Where in Rajasthan oil refinery is. being 58. 3roTRere # 3ifga ﬁqmﬁﬁ?ﬁ WITOAT Hal ol
established? . NI %\? ,
' (A) Barmer (B) Bikaner ~ (A) IR (B) TR
(C) Jaisalmer ; + (D) Jalore (C) TATR. (D) VAR .
59. Which of the following statement is not true? 59, FrefiRa ¥ 9 B T BUT A el
(A) Ramsay MacDonald called the Collector as 27
the Institutional Charisma. - (A) R Apees W Folde) DI R
(B) In district, the District Collector functions SR HEl oAT|
as Chief Protocol Officer. B) ot #, forem deldex T Eﬁa?b‘lﬂ
(C) The post of District Collector was created BT BT BT HRAT 2| - ‘
by Warren Hastings in 1772. (C) W 1772 ¥, 9 R gRT fTeT Heldex
(D) In Article 233 of the Indian Constitution, BT Ug giora fbar |
the word ‘District Judge!™ has been (D) ¥RT & Wfdere & argeds 233 # R
~ mentioned. " ' Tl v BT Sooid fbar AT |
60. As on August 2022, how many declared 60. STV 2022 @ Refiy & SR, WRA # el
wetlands are there in India? RURRESIE W g?
(A) 41 1 (B) 48 (A) 41 (B) 48
(C) 72 (D) 75 ©) 72 (D) 75
Page 9 of 24
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61. Which of the followmg pair_is not correctly 61.

matChed?

(A) 243 R — Mention of the composition of
Municipal Corporations

(B) 243 ZC — Composition of DlStrICt Planning
Committee

(C) 243 S ~ Constitution and composmon of
Wards Committees

. (D) 243 ZE - Composition of. Metropolntan

Plannlng Committee

62. with reference to Indian Economy, consider ~ 62.

the following —

(i) Public debt "

(ii) Public revenue &

(ili) Open market operations

(iv) Bank rate .

Which of ‘the above is/are component/s of

Monetary Policy? .

(A) (iiiy and (iv) ~ (B) (1) (n) and (iii)

(©) (i) only (D) (ii) Only |
63. What is the name of the crematlon sute of - 63.

Mewar royal family?- "

(A) Mahasatya (B) Kaga

(C) Gatore (D) Bada Bagh
64. When did Maharana Pratap make Chavand his 64.

capital?

(A) 1576 (B) 1582

(C) 1585 (D) 1580 .
65. Which of the following statement is incorrect? 65.
" (A) PESA Act is applied to 9 states of Schedule

5.

" (B) The PESA Act was enacted on  the
recommendation -of Dileep Singh Bhuria
Committee.

(C) Panchayat (Extension to Schedule Area)
(PESA) Act was implemented on. 24th
December 1996. A

(D) One of the objectives of the Act is to
Protect and conserve the traditions and
g Customs of tribal communities.
66.  Giral lignite thermal power project is located - .66
in which village?

(A) Ramsar (Ajmer)  (B) Sivana (Jalore)

(C) samdari (Barmer). (D) Thympyi Village

. (Barmer)
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. (©) &aa (i)

X

ﬁw%rﬁqaﬁﬁfﬁﬁwgmﬁﬁf?aaﬁ%?
(A) 243 R — TR uiferamen B GRET Py

Sl |
(B) 243 7¢ — Ry drorm ARy 31 7155
(€) 243 5 — o€ AT T ToT T Hegey
(D) ‘243ze4qurqu‘lwﬂﬁﬁaﬂm'

ARAE efarqeen & wed ¥ BE W e
DY — '

(i) TS o

(i) AISI® o

(iii) ?gﬁ CINIcEGA ﬁv_UTQ

(w)%)as

gqgaﬁ P ar /Y H‘Tf?as T > gew
Va.T

(A) (iii) 3R (iv) (B) (i), (ii) 37 (iii)

(D) Tae (i)

gtr@ WS RM B Afe e @7 9 g
5 s

(A) AE™RIY .(B) &y

' (D) g1 9177

Wm#maﬁeﬁmﬁwwﬁm

. o7

(A) 1576 (B) 1582

(C) 1585 (D) 1580

fFr=iifeea & & P wom ey 27

(A) =1 (PESA)aﬁrﬁm a—ﬂiﬁ’r 5 & 9 154
¥ am el .

(B) 411 (PESA) srfiTﬁw feehy Ryg TRar
AAfT B TR W) gy T

(C) Yemga srp<afaa & & fawR (fm PESA)
R 24 oW, 1996 BT WY o

gvmmwmm%‘l
%mmwﬁﬁ%mmﬁ

Rerg 22

(A_) W (aTSTR)
(©) W (@reiv)

(B) Ryaror (STTR)
(D) oprqrefy w1 (arS+)
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67. Which of the following statement is not true

about ‘Kalibangan Civilization’?
(A) camel bones have been discovered at

Kalibangan. _ _
(B) Luigi Pio Tessitori, an Italian Indologist

found the Kalibangan site.
(C) Kalibangan has provided evidence of the
first recorded earthquake.
(D) pre Harappan fire altars have been
discovered.
68. Which is the rank of India in the recently
released Global Hunger Index 2022?
(A) 107" . (B) 110t
(C) 102 (D) 109t
69. Underwhose Ieadership,vth'ousands of women
participated in the conference held at
Katrathal on 25 April, 19347
(A) Rama Devi (B) Durga Devi
(C) Uttama Devi (D) Kishori Devi
70. Gopal Saini is related to which handicraft of
Rajasthan? A i
(A) Terracotta ~ (B) Wood Art
(C) Theva Art (D) Blue Pottery
1. In which.of these countries is the G-20 summit
proposed for the year 20237
(A) China ~ (B) Vietnam ™~
~ (C) India (D) Indonesia

72. Consider the following statements regarding
the Goods and Services Tax Network (GSTN) -
(i) It is a non-government, private limited
company.
(ii) It is a not for. profit company
Select the correct.answer using the code given
below -
(A) Neither (i) nor. (n) (B) (i) only
. (C) Both (i) and (i) (D) (ii) only
73. Who was the Ruler of Bikaner who supported
the British through his army for suppressing
Revolt of 18577 '
(A) Sardar Singh
. (C) Ganga Singh

(B) Ratan Singh
(D) Dungar Singh

67. fy=fRag A A DI AT YT ‘STl GRIT |

@ gz § w& T8 87

(A) FHTHFT & S D A B T A ¥

(B) Hrelle™m @1 TSl U T gelaiione
qEh foar 2RI A B o

(©) e & W b Ry QP D
e et 2

(D) 1 gt SRl & wew et ¥

- 68 AR mmwwzozzﬁw

BT BT I BT -

(A) 1074t (B) 1107t
(C) 102df (D) 109df

69. fohvid g H, 25 MM, 1934, PT HeXA H
AT faemTet Afeel W=er # §oIRI ‘T%?ﬂaﬁ
J W forar?
(A) 7 <@ “(8) gt 2
(C) ST A (D) fereidy 3

70. Wﬁmwwaﬁﬁmgﬁw
J g? .

72, q1ef §R {1 TR Acasd (ST B Hay

H f=foRad doMi W faaR & —.
(i) I8 U& IR TR, m@zmm%l
(u)a%'wf\r\’?*ﬂqiﬁﬁ?l

:ﬁﬁﬁ?ﬂﬁaﬁmmaﬂmﬁw‘

gFy — _ |
(A) 5 o (i) =T & (i) (B) Bad (i) E
©) =M ()aiR (i) (D) BadA (i)

73 1857 B Fify B <o B fg, e B b
W#aﬁa‘rﬁﬁmméﬁ?
(A)mrqﬁqg (B) a1 g
(©) 7 Rig (0) g e

| 131C
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(A) RTpreT (B) B e

. ©dmEem (D) == ey
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74. Which state of India has highest potentialify of 74 iy b
wind energy? el faemr 87 ,
(A) Gujarat (B) Karnataka (CYRINN (B) Frifee

. (©) Rajaf»f._ha” (D) Tamil Nady (C) ToTRRATH (D) affrerrg

75. Who aragng the following was the author of ~ 75- ‘IR PSR JIF & o fim 3 3
the booRJaisalmer k3 Gundaraj’? BT A? ,

(A) Ma@a Lal Verma (B) Sagarmal Gopa (A) FiforaIeer ooi  (B) TR T
(C) HirﬂShastri (D) Jai Narayan Vyas + (C) ERTeTTer Ty (D) STARIIeT <y

76. Who is famous with the name of Narsingh in  76. /o™ & RRYE & = 9. ufig § —
Rajasthan? o
(A) KaviDurlabhji " (B) sant Ramcharanii () Eb_ﬁ gerret - (B) i S rof
(© San%]jabji (D) Sant Charandas ji 15 Lo I‘Gﬁ (O) Hat woreTe

77. Accordif® to Col. Tod, Meena’s originally 77 +icl SIS & S/gaR, Homai &7 5ol Framy ver
belong gg3vhich of these places? =1 A | P T ooar?

(4) Kali @Rati (B) Mukundara Hills (A) BTl ©TET geeTaTe (B) HegwaxT yda Syofy
Mowdain ranges  f )
(C) AbutTountain (D) Kali Khoh (C) g udamrenr. (D) Tl @E udaHTen
_ranges Mountain ranges : , C

78. In which-part of Rajasthan the ‘Entisols’ soil is 78. ISR B fbw v T LELRIE]
found? .., _ Tl ' | '
(A) Soutigarn (B) South Eastern (A) <ferofy . (B) <fgror gt
(C) We@'n (D) Eastern - (© g3y (D) gdi-

79. Who affdng the following is not in the 79 RO WSy AR AT & oeuel gd
Selecti%Committeethof ;?et C:airmar;_ ahntd ’ Tt @ T |Rfy ﬁ T SN
membexsof the Rajasthan State Human Rights : ;.

, e i :
Commission? . Tl BT &
(A) Home Minister  (B) Leader of the (A) T8 15 - (B) fquer &7 =
— Opposition : 5
I~ (D) Chief Minister (C) <rozrare , 0 g
(C) Govegmor 3 4 .
80. The cgtrudion of Bisalpur Dam was 80. Eﬂﬂﬁg'\’ g @1 FEer feg qy  # T’f
?
compleggg in which year? . U .
(A) f;ggv) (B) 1996 EE . (A) 1999 (B) 1996
R D) 1989 (C) 1992 (D). 1989
(©) 190215 e . e 3 9 T B fat 8 T 0
81. Which S the following region of Rajputana . 81. ﬁf"f?ﬁaﬁ o XL w
varik dynasty? EM R
(C) Badnaur (D) é‘lmer 82. ﬁ.‘:n_m_r ﬁ @- ﬁ;ﬂ é-g-l- -'%{ a—d’» 2021-22 7 IR
82 Which country got the maximum export from I gaifre Frafa e
. =227 '
India in the year 2021-2 B
(A) USA ' ik BE AT (D) mq\.tf.‘a‘.
_ (D) Brazil (C) == , B -
(€) China .




83.

84.

85.

86.

88.

89.

90.

91.

Yojana
(C) Food in-Night - (D) Cojmmun(in/ (C) X7 oy # Wio= (D) ?Trga'rﬁ‘ﬁﬁ ICEIR
Sheltor MarriaggScheme
Who wrote the book named ’Hamr@-lath'? 84. ‘gmiR g0 AMG TA ﬁﬂﬁ forar?
(A) Chandrashekhar  (B) Keshavd (A) T5IRER (B) B3y
(C) Dalpat (D) Jodhraj ¢A (C) Toua (D) SRRTS
Akal Wood Fossil Park is located |ﬂ/h|ch of 85 3FHd FTS SHArH BETFT o & @ e e
the following district? -~ # Rerg 87
(A) Jaisalmer (B) Rajsamand (A) SIFeTR - (B) oS
(C) Bundi (D) Pali | (C) g (D) ureft
National Bank for Agriculture gad Rural 86. Iy Py SR UTHIT faera ¥ (ﬂﬁl‘lé) L3
Development (NABARD) was establlthed on - WU g3 -
(A) 12 july, 1986 (B) 12 JulySEp82 (A) 12 eTiE, 1986 BT (B) 12 TeTTs, 1982
(C) 12t July, 1978 (D) 12t JulyC¥b92 (C) 12 F[eTis, 1978 BT (D) 12 g, 1992 T
- Identify the Chairman of the Rajas%n State  87- [OIRIM o0 AMAINIGR AN & VA IAedel
Human Rights Commission, who alsgarved as B Bftg FIvT W Swdd e ®
the Judge of the Supreme Court of lagia? TN 9 R , ;
(A) Nagendra Kumar (B) Kanta Kumari : .
Jan% i Bhatnagar (A) = BAR S (B) i W = ”_ R
(C) Gopal Krishna Vyas (D) Saiyed Saghir- (C) TuTet FwT B (D) 7T TR AET
Ahmad ;
From the following battles, choosethe correct 88. faforRag g@[ H Y STh S O B a§ D
order from first to last according tg&the year | IER Ugel 3§ RIS dF Hel HH DI ﬂﬁfl'
() hatle of Gagron S bl
a
(2) Battle of Sargangpur ™ (2) P E
(3) Battle of Bayana ;-*) (3) T &7 I ’
(4) Battle of Mavli « (4) Fell 1 RE] _
Choose the correct option - el famed ?’ﬁ - , '
(A) 2,1,3,4 ) (B) 2,4,3,1 (A) 2,1,3,4 (B) 2,4,3,1 -
€ 1,324 ' - (D)1,23,4 (€) 1,3,2,4 (D) 1,2,3,4
To which age does the artistic splendour of 89 TN o1 REIRTG & FHelAD ?NH fovg
Abhaneri and Rajoregarh belong? : Bl | ARG 87
_(A) Guhil - Sisodia (B) ChauharfQ - () i — ﬁ@ﬁm (B) T
-(©) Gurjar - Pratihar (D) Rathorec('a (€) ok — yfeeR (D) RISI$
Which one of the following is Not gfuded in  90. fopfafad § & Far AR srRfdaR W ?asfﬁt
'Itshe Agriculture and Allied Service Indian AR Hag Yol ¥ witafad T8 87
conomy? : .o . ~ .
(A) Food Processing ~ (B) Logging {trees) (8)T1E1 vy (B) wers (g F1)
(C) Forestry (D) Fishery (C) ariTan (D) Feer :
Saint Haridas was the founder Of .. of. & BREM......o S ARG RSINEY
sect. ' | '
(A) Ramsnehi (B) Niranjani (A) T (B) foRaT!
(C) A|akhiya (D) Nimbarka (C) arafiaay (D) Frere
Page 13 of 24

131C

“Utsav Bhoj Yojana’ in Rajasthan is related to —
(A) Indira Rasoi Yojna (B) Mid-day Meal

83.

RSN # ‘Iedd |l AT e § —
(A) SRy v Ao (B) e et v




- 92. |n which of the following, the archaeological
i_ remains re|ated to Buddhism are found?
\ (A) Naliyasar (B) Raidh (Tonk)
\_" _ (Sambhar) : .
(©) Bairath (virat (D) Madhyamika
Nagar) (Nagari)
93.

In Rajasthan the major districts of maize

¢ cultivation are -

(A) Banswara, Palj ang Sirohi _ | E
“(B) Baran, Kota and Jhalawar
(©) Chittorgarh, Banswara and Bundi

- (D) Baran, Jalore and Pratapgarh

94 Which one of the following is the correct
descendlng order of the coffee producing
states of India?

e . (A) Karnataka > Kerala > Tamil Nadu > Andhra
iy Pradesh

P (B) Karnataka > Tamil Nadu > Kerala > Andhra

!

i : Pradesh
i (C) Andhra Pradesh > Tamil Nadu > Kerala >

5 Karnataka '

. (D) Karnataka > Kerala > Andhra Pradesh >
I - Tamil Nadu

95. Assertion (A): Teak trees are mostly found in
. southern part of Rajasthan.

2 N " Reason (R) The teak can bear extreme cold

! : and frost. .

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is the
‘correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is not the

correct explanation of (A)

96. Morley — Minto refdrrr_ls were aimed at -

(1) Promotion of éducation

(2) Reserved seats in Provincial Assembly for
Dalits ,

(3) Separate electorates for Muslims

(4) Increase in the number of members in
Legislative Council at Centre

Select the correct answer from the code glven

92. ﬁmﬁfﬁaawaﬁwﬁmﬁm%
Ay wef e 27
(A) FRERR (@RR) - (B) X3 (i)
(©) ¥RTS (e ) (O) T (g
93. TroTeR TAET BTN D g m
s_
(A) SiareT, UTel 3R RN
(B) IRT, Pler &R werrars -
(©) friteTg, aiwarer ok g
(D) IRI, TR 3R gaTaTTe

- 9% RT | B IeH IS BT PR 3

¥ el BTl gaN B BT 27
| (A) Tiiesd > et > dfierTg > oy WSy
(B) Beifead > qfierrg > Bval > oy yor
(© a1t 5371 > firerrg > 3% > e
(D)W>W>3ﬂam>ﬁﬁﬂﬂ@

95. DU (A): W?ﬁaﬁvﬁaﬁsﬁﬁwzﬁ
T e TR oMy 8
BT (R): meﬁammaﬂ
RIS SEEN
(A)(A)ﬂa%ﬁﬁﬂ(n)m% '
(B)(A)sﬁ?(R)a‘m‘rm“r%W(R) (A)aﬁﬂé’l
A § .
(C)(A)naa%éﬁ»——r(k)va% |
(D) (A)W(R)ﬁﬂﬁ%ﬁﬁ(m, (A) B
T = T R
96. Hfeh — mmmmm--
(1) e @Y sgrar - .
(2)$Wﬁm%mm
(3) T & o 3t Figfee wiea
(4)$aﬁuﬁumwﬁwﬁmaﬁmﬁ
TR =

:ﬁaﬁqwmﬁ%ﬂé’rwﬁw
BTy —
(A)1,27d3 "

(B) 1,2,37d 4
(C) Bge 3

(D) Baci 2

below -

(A) 1,2 and 3 ®) 1,2,3and 4

() Only 3 (D) only 2
131C
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97. From which district of Rajasthan, the Heli-

Borne survey technique for ground water

management has been launched?

9. suict wder & f, Rl ey i d
mmﬂm‘r{fﬁﬁmfﬁéﬁmw

8

. ’ B .
(A) Jodhpur (B) Bharatpuyr (A) STeIgR ED; K
(©) Kota (P) Jaipur . ©@rr e
- 98- Who was appointed as the new Chief Minister 98 5g 2022 PO¥ @ T e e g
s | RIC I FO
of Tripura in May 2022? : foa .
(A) Eknath Shinde  (B) Biplab kumar Deb (A) garmrer R (B) faerg aos'”z.ea
_ (C) Dr. Manik Saha (D) N, Biren Singh (C) Si. =nforwm HI%T (D) T, 4r7 Riz |
99. Who among the following ‘Padma Award - 99. 'q-c{q‘ng —2022'% mﬁﬁ Tl 1A
2022’ ,ecipient is relate(dB)to Rajasthan? ¥ B W J G =44
(A) Vandana Kataria Shakuntala _ .
| | Choudhary A g7 FeiRar  (B) wrgren <y |
(C) Sheesh Ram (D).Ch'andraprakash . (©) ey < (D) T5yeprer Ry
4 Dwivedi . R
100. Where will the khadi Plaza’ be constructed by 100. 3oreers gl U4 .‘Tl'“ﬁﬁfff IS gRT @
Rajasthan Khadi and Village Industries Board? ISl &1 fA\for wEf fargr GIIQ‘H_?
.- (A) Jaipur ~ (B) udaipur (A) SragR (B) SR
(€) Jodhpur (D) Bikaner ‘ _ (C) Shegr (D) iR
101. page fault occurs, when - 101. 15 %fee a9 B T, 9 —
(A) the page is present in memory (A) O #9193 ANE & ' E
(B) the page is not present in memory '(B) U ARy Hﬁqz BRI
(C) the buffering occurs (©) 95ReT By 2
(D) the deadlock occurs (D) Seeifep Brar & A
102. Consider following statements, in context of  102. SIFgie ¥ 1 worr VTR NGl forg.
MS-Word - 2019'fkeys for moving around THTN. 78 — 2019 &) EANR R e
- documents — | Gkl L fq R B — ' -
4 ' |': END g9 3@{@3" ] [ q§?n°
|+ Pressing END takes you to the end of the _ W.Gﬂq ® o - )
e 5 f& wmy |
ocument, . .
It Pracs: ' _lI:PgDnWﬁ'WWWW%q@
 Pressing PgDn tal'<es vog down one screen, f'a?ﬂ I e g B .
W Presig il + Home takes youtothetop PRI + B (Ctrl + Home) TR R amaay
of the document. SIRFTE 3 9 1z g T S g
Which of the apoye statements are true? - . ST ¥ Q) gy q B e &7 .
() Jang (B) I and Il (A) | o (B) 13T Il
© | ang (D) liand NI ©) 1, ey, (D) 113 111
31C
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U3.'Second  generation computers were L
developed during - fapar T oar?
(A) 1970t0 1990  (B) 1959 to 1965 (A) 197071990 (B) 4958 1 105s
(C) 1649t0 1670 (D) 1965 to 1970 (C) 1649 ¥ 1670 (D) 1965 ¥ 1970
104. Which of the following statement is false? 104, 1 # |4 DI A DA o &7
(A) Trackball and Joystick are pointing devices (A) gepdfer. o Gﬂm W
like mouse. dfgfeT gt €|
(B) A digitizer is an output device. (B) R¥fTeTgoR U@ 3MScye gfed & |
- (C) OCR stands for Optical Character (C) MR, BT SIREIRS e DX
Recognition. | R 7 |
(D) You may find pre-printed MICR characters D) tp d& Yp W M TR W WY
_on bank cheques. ! ' ' TH.37TS TR, 3R T TP & |
105. Which command will be used to display the 105. Ms-Excel # BT A WW dfa R
format cells dialog box in MS-Excel? @ o g IS &l ST HA?
(A) Ctrl +2 (B) Ctrl+1° (A) Ctrl+2 (B) Ctrl+1
(©) Ctrl +F (D) Ctrl+D (©) Ctrl +F (D) Ctrl +D.
106. Read the following two statements —, 106. freAferRad 2 BT BT TS — .
|. Information and Communication Technology | g 3R AR frenfrer (@mEAe) P
: (ICT) is considered as a subset oflnformatlpn ‘ W e (@Té'&) &7 e 7T S
~ Technology (IT). 5 : e
ll. The ‘right to use’ a piece of software is I v ‘ g ‘
. termed as copyright. I, ivaiqﬁl TR & SUAM B SRR Bl
Which of the above mentioned statement(s) PIURISS BT Sl 2l ,
is/are correct? Swiad # | A A1/ B GE B /7
(A) Neither I nor Il (B) Both-land Il (A) 7 a1 | 3R =7 2 1 (B) | AR Il <HT
©) llonly (D) 1 only (C) Bad Il (D) Bad |
107. \What is formed in the reaction of sodium 107. S & &1 |Aifead WVTWEE CARCIGIER
hydroxide with zinc? 3 T e & ! BT RS
(A) Zinc hydroxide and hydroxide gas ' (A) R TTEiaaEs 3 FESTIES i
(B) Sodium Zincate and hydrogen gas (B) wifsad ffae 3R HERISERIN]
(C) Zinc hydroxide and sodium - EE (C) R TTgsiaags AR HIRETH
' (D) sodium Zincate and water ' (D) QT Ride AR url
108. ppis florea is related to which of the  108. ufiry weiiiRam Frferfac # 1 fed I
following? , | &? : '
(A) Sllk warm (B) Termite (A) W Eﬁ—d (B) ?:‘PITW;
(C) Honey Bee (D) Lac inw
121~ V1 .oe'16 of 24 3 .
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109.

110.

111.

112

113,

BT 0= g e
The resistance of a copper wire 200m long is 200 AR T T @ aR 1 Ry 21 Q R
21Q. If its thickness (diameter) is 0.44 mm, its Ife sqH AerE (@) 0.44 R m 2
specific resistance is around - RARNe TRRY T & — IS R
(A) 1.8 x10® Q-m (B) 1.4x 108 Q-m (A) 1.8 x 108 Q-m (B) 1.4x 108 Q-m "fféé\’ G
(©) 12x10%Qm (P 16x10%Q-m (© 12x10%0m  (® 16x10¢Q-m pj—f
.............. is an example of physical change. U0 . W AR FTTF ST RT g
(A) Making of curd from mi'l.k (A) go & T& il \{q}!}?}‘ . q;;p!
(B) Burning of candle (B) Hia<hl T el w2
(C) Blackening of silverware - E (C) I &Y & gd=1 &1 BT qg:n\_g(@‘
(D) Dissolving of sugar in water i *(D) T BT 9T+ H YT \.8/
Which one of the following is a viral disease in Wﬁ?ﬁ ¥ QP A U UL H ARIRA
animals? ' T ®?
(A) Johne's disease  (B) Anthrax - (A) i =T (B) T
(C) Blue tongue - (D) Milk fever
disease : ; : (C) SRR T ¢, (B St
Which of the given enzymes is responsnble for \1/151/9}[‘3? & ureH @ forg {3y g WTE"ﬁ q 9
the digestion of milk protein? D—ar RER 27 -
(A) Erepsin ~ (B) Trypsin (A) Wt (B) ferfoe v o B
_(C) Pepsin . | (D) Rennin ~ . - (C) uftwm - O | |
Match List-l with List-Il and select the correct KL A1 B FA—1l | ‘\ﬂ'ﬁﬁﬁ Y R A fag
answer by using the code given below - . L//ﬂi’ He El qufFT PN FE IR ﬂﬁ? —
List -1 & List—1l z, = ol — I g -
(a) Hydrogen bomb - . (1) Fission ‘ (a) g@@—\ﬂq T (1) fagues
(b) Atom bomb ‘ (2) Fusion - (b) TRAIY TH n 2) W
_(c)Bindingenergy .~ (3) Critical mass (c) et ol (3) wifsa® GewH

T o TR PR . A T [ e -
N

&

(d) Nuclear reactor (4) Mass defect (d) AT Hedt  (4) geH el

Code - ' - Eb—a_'

"1A) (a)—(2),(b)-.(1),téi—(s),(d)-(4) it | C (A (@) =(2), (b) = (1), () - (3),(d)—(4)'

(B) (@) - (2), (b) - (1), (2)'¥_(4), @-6) B (a)-(2) (b)= (1), () - (4), (d)-(3) -
©) (@)= (1), (b) - (2), (c) - (4), (d) - (3) . - (© (@)~ (1), (b)-(2), (c) - (4), (d) - (3) -
®) ()~ (1), (0) - (2), (c) - (3), (e - (4) ~ ®) (@)= (1), (b) - (2), (¢) - (3), (d) - (4)
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114. Choose the set of true statements from the
following —

. (1) Vinegar is an aqueous solution of 5% - 8%
acetic acid.

(2) Hydrolysis of fat gives glycerol and
carboxylic acid.
(3) Teflon is used as solvent.

(4) The chemical formula of washing powder is

Ca0Cl,.
(A) 3,4 (B) 1,4
© 1,2 (D) 2,3

115. What is the percentage of Photosynthetically
Active Radiation (PAR) that is captured by the

plants?
(A) 2-10% (B) 5-10%
(C) 2-15% (D) 2-5% -

116. |f ‘CEG’ is written as ‘TSR’ and ‘FH)’ is written
as ‘QPO’, then ‘IKM’ is written as -
(A) NOM (B) NOL
(C) MLN (D) NML

117. The next term of the following number series
is —
2,12, 36, 80, 150

(A) 210 (B) 258
(C) 270 (D) 252
.i18- Here, a statement is- followed by two

arguments | and Il are given. You have to
decide which of the argument/arguments

is/are a ‘strong’ ‘argument and which is a

‘weak’ argument.
Statement : Should income tax be evaded by
people?
Arguments l. Yes, Taxes are-excessively high.
II. No, it will hamper the welfare
programmes.

- (A) if neithe'r I nor Il is strong
(B) If only argument Il is strong
(C) If both | and Il are strong

(D) If only argument | is strong

131C
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114.

FrfoRag

_ﬁéwzﬁwﬁzﬁmzﬁrw

;

B (1)5%-8% wRifew st B el faera B

e R dead &1 .

o (2) T B T omued ¥ fioRRia 3R

& s snd w1 €

< (3) SW @1 Iw faemad & wu #
ST R

N CaOCbHﬁﬂWWW’tEQﬁ%l

% (A) 3,4 (B) 1,4

o~ ©) 1,2 (D) 2,3

%5- TPTREReT) &0 & wfha fafewor (fgam,) @1

A 1 3

- A 2-10% (B) 5-10%

'&5 (C) 2-15% ,.\418 (D)zs% i

2 M’%" ) 1316 IS
RIE igf_g' PSR 7 'FHJ’ @1 ‘Qpo’ feran
’ ST ® KM Y 5 TR FoRaT SRT?
<= (A) NOM (B) NOL
“¢= (C)y MLN (D) NML

17. ﬁwﬁv@aq@wa@
<ty K LEE
2,12, 36 80 150

: = \"r .
'2—
\£+$='3 L
a ¢

@>+3 11-%\(9)*“

(\\') Y- \\P”Lo

(B) 258 ((~)"

(C) 270 . (D) 252

8. ugl, Uh HoH B UTE al da 1qn e ¥

mﬁmm%%m/mw

HoTgd © T BT T AR &)

FUA waﬁﬁmmfﬁraﬂﬁ
afeq? -

q& ;1. 8, oY ofs S=m d..
,Iqaagwa?rdzﬁq‘raﬁmmﬁ
. BN

“I(A) -q—ﬁ E| ?ﬁl,lﬂ'[“g 1l W %

(B)uﬁ‘ra‘,zraaﬁn%rsm%

(©) afz ST 1 T 1l o &

13026871
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119. |f Sohan, while selling two goats at the same
price, makes a profit of 10% on one goat' and
suffers a loss of 10% on the other, then which
of the following is true?

(A) He makes a profit of 1%

(B) He suffers-a loss of 1%

(C) He makes no profit and no loss
(D) He suffers a loss of 2%

120. Two different positions of a die is shown
below. Which number will appear on the face

opposite to 5? D~
1 6 o
(o}
3
g |3 2 S
. A
| 1 N
(A) 1 ®s 2
€) 2 (D) 3 '

121. |n a certain code language, “479” means “fruit

issweet”, “248"” means “very sweet voice’

un
" ind
“637” means “eat fruit daily”. Code for l%
equalto- N
. )
o

-

(A) 7

S B4
© 9

D)6
122. |f the income of x is 10% more than that of y

and the income of y is 20% less than that o‘f_z_
then the income of x, y and z respectivelyla.(e

31

in the ratio - - % -
(A) 22:18:25 (B) 10:9:7 ~
(€) 22:20:25 -(D):11:10:8¢ . Qo

3

123, Umang said to Uma — “You are wife of

Uma?
(A) Father

_ ‘(B).Husband
(C) Father-in-law

“(D) Grandfather

5,
M~
124. ‘A’ walks 10 m towards East and then 10
his right. Then every time turning to his leftDhé

walks 5, 15 and 15 m respectively. How f

“(A) 1 (B) 6

© - (A) 22:18:25
*(C) 22:20:25

18 R e, < TR P T T R

TF gHA W 10% FT AN FACH § AR q@
Wlo%aﬁgﬁ'ﬁﬂ_ﬂfﬂ% ?ﬁﬁ’fﬂﬁ@laﬁm

NOEA0 o

(A)ag1%mamamm1% E‘E

~(B) SR 1% M Bl 8

(C) @8 A1 Y o HAET © 1 8 T
(D) T 2% @ BIfY BN ©

‘/témmﬁfrﬁaﬁﬁﬁﬁ fraE

lsa%ﬁqﬁﬁmq?jﬁ? mmﬁ@‘sz‘

5/ 1 ‘ 6

4 . 2

'~9'

iz .t ¢ (D) 3

121 v fAfkad e wmr § “479” 1 ek “fruit is
_—sweet” &, “248” &1 3 “very sweet voice” g

AR “637" &1 e “eat fruit (_:i_z_uly" 21 i

“is” ]
HT WER T — @Am
(A) 7 (B) 4 wt Swesh
L De e\*
©) o9 (D)6

223 x I A, y BT AT 10% IAWS ¥ Tl y

DI A, 2B A W 20% FH B, A x, y TAT 2
B AT AT HH: & —

\19@'\1 ‘/:7—-_—

(B) 10:9:7 . %,‘,"L yrerk

(©) 11:10:8 Y, “‘“L Zre=

e \123/@_7-«? S BT BT — A A A D u“la El
grandson of my mother”. Who is Umané:ﬂ) Il B

1" SHT B SHI W T G B? 0 weey
(A) foar (B) ufy

SR (D) =TeT

124 q 10 MR G Y @ik e ¥ ek B 10

ﬁaaﬁﬁ@vw%ﬁnamaﬁ

9l 3R SHR, qE HH: 5, 15 AR 15 Hew

b o O i T R | I GE AT TR v @ e
he now from his starting point? o ™ W J?
~(A) 10m. (B) 15m inid (A) 107, (B) 15+ -
(©) 5m (D) 20m ; (© 59 (D).20 % -——';f‘ '
=\on o . Mo 2_ : 207, T
Y = \\O ‘ @ \\q P : 'a
e 2=\ % lne i ]
131C SEEVER Y ,‘21@_9314 = ks
A\O ¢ \ oo wWa |{¢ \.ul
2




=2 L AL,
'\?L%M %%\?’V“ T

] R S, T & 2084
. 125. |f the simple interest for 5 years he equal to - o y
R i Caa E”E”ﬁ ML=

20% of the principal amount, then it.will be —
equal to the principal amount - ) _

AL i ' ” ' B) 15 auf ¥

ko ‘A) in 20 years (B) in 15 years > (A) 20 T8} & (B) 15 |
(€ in 10 years (D) in 25 years | © 10ast¥ . _Pr2sauH |

126. 55 SIS BT &sdel 300 9 Hiex ¢
uﬁﬁwﬁmzsﬁaﬁ,aﬁﬁmm

«126: Area of 3 rectangular field is 300 sq. meter. If

;‘ Jength of its diagonal is 25 meter, then the

gy .
1 Perimeter of this field is - . gi“ ¥ gAY & — - 6 w9
i . =
(A) 84 meter (B) 90 meter . T ae A 8aTIeR (B) 90 #ex
: | e -
(C) 70 meter (D) 80meter ~ maq=1 . EVI0HR (D) 80X
127. Average of all even numbers between 320 and \}/320 AT 350 B HeA B GH TH G F
350 is—‘\,\oo—‘r”"‘ @?3&’ é‘g argg ® — a‘:'w (,ﬁ 1.
() 335 o 0(B) 525 A () 335 ?;L‘W (B) 3254 “ ' )2
; (C) 332 (D) 330 Vo= 332 w(D) 330
: | 128 How many triangles. are thes liF e glven /a’ﬁé AP # f*ﬁ%ﬁﬁﬁ o7
& [ flgure'-’ ‘ | i
;'-}'l:‘_. : L e N\ i [
4oy 4
(A) 16 (B) 17 BTN - '@/16-  ®)17
(C) 15 N () RV U © 15 © (D) 14

\129 If (+) means (X), (+) means (+), (X) meﬂr‘]s( ) \1_/3% (+) 1 STQf (x) (=) BT 7S (+) (x) @1 e
u\nuwm—n and (-) means (=), then the value of ;‘ﬁi‘a’“"’ ()R () T 0ef () &, A

M ruxn A 124+32-8+2x11isequal to- '”',;‘ ! 124{327“2»11@%3?@?%—
‘*\:\‘ W12 - (B)13y ; & (A 120 (B) 132
e (€ 121 D 144 Ry (©) 121 (D) 144
130. A, B, C, D; E and F are sitting in a row. E and F. , MB C, D, E3R FU& Ui & §3 g ¥ EaiR
are in the centre, A and B are at the ends, C is’ - Fo (1) 490 € AR B BRI W 1 &,
sitting on the left of A. Who s sitting on the ' J'c,‘;'A & il Sﬂ'\’ﬁa TIB B qpl oiR P
right of B? p O e
(AA (B) F C A)A '*(B)Ff
r :.'(C)EB e BiaT b L M i




| \@/Wﬁﬁwmmmﬁmﬁgm%?

(A) W75 vy wERIE # o W@ ¥ (B) fhara & B g I ¥
© (OY T wR aph o B (D) oTgT Y TR MY |
132, ~ fawe & 3 W 3T Rvew g — _

(A) siorrf — od @ fog BV aTR — X S

(©) ArSFarg — T B WA (D) e — 27 § ared

133, = & Q) foby arq A AT by o7 v g 7
\/(A)WWH%%QW?T BY & T g § wg W@ ¥

©) gferd 5 AR I TSI AR AR | (D) AR & forg e ST B 1
134w e & 7 AW R Suw @ BAOE e |
(A) T, Ty 5 (B). sz, TRafie Wi~ S e

LR (C) qregawm, wgrERe T A S 4 ufare, sree
W'%%a}miﬁmaﬁzﬁq—wzﬁmm%? {
L7 @) i wen W o a1 Wi o @ fore ‘
' (B) sifivares, W, udl, Reie anft § W GEe afares @ arg ¥ v
(C) SuarRiY B 3T T B Ry | . , EE
©) wmafie % vt % T 3 B R
136. ey ey 3 T T e B TaRra) 8

(A) g=iog, e, By . (B) afg, 3afdy, ey
(C) &=, anfasn, fAfdr , (D) #rerg, Herg, diarR
' \}L%ﬂﬁmﬁeﬁﬁﬁmwmmgm%?
(A) el — awas ' (B) wifed — wmfea
(©) <Y — w | - D) T - mR
(38wl ot gfe & wrd Rwe o1 wgw @i — | 5
TP () TS + R = ey AW (@) AL + U = AT
(€) & + Sfr = : (D) o + T = e

WW@(W\ ¢ W4 ’(:';\4-2 ‘7"'3@“3 =S éﬁ\‘%’(f\

() A R it T S
(ii) &t @) e WU s +o1
(iii)a“@quma:i?ﬂ_ M AT S E
(iv) 3y = ) 4R T

A (i)—(), (n)—(i-s}); (iif) @), (iv)=(m) ‘?‘,’ (i)—(?ﬁi, (i)~ (iii)~(m), (iv)-(=)
© (i), (ii)-Ga), (iii)-@), (iv)=@) O (i)-G@), (ii)-(m) (iii)~(@), (iv)~ ()
U IE T 51 e Ao - '

(B) 75 B 39 wog 27 (B) F91 3 B 1  faray
(©) S W 3 BT AT e AN (D). A W BT T ey <
131¢ X
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Direction (141 to 143) : Read the passage carefully and answer the following questions -

But before | could be inspired by these amazing people, | had to cleanse my feed. | know my

—

weaknesses: just last week, Facebook memories reminded me of a pizza party I'd had two years

ago ~ | ended up ordering a chicken don;nator with ga:rlic breadsticks and an jalapeno cheese
di- . much for Day One of Couch to 5K trammg | stayed right on that couch. So farl've unfollowed
eed Tasty,

TasteMade (even therr adorable Tiny Kitchen) and several people who have the
.ble- advantage of belng able to eat as much as they want and not put on weight. By my

calculations, dark chocolate is healthy So I m strll followmg Earth Loaf. Pascati and Mason & Co.

When'| flnally found a gym | liked wrth the best tramers [ have had | unabashedly shared my
workouts every day. From shying away from full-length pictures, | reached a point where | could

share videos of myself deadliftlng and doing back squats with a barbell across my shoulders. It
gave me accountability.

141. Which of the following word in the passage means ‘very desirable’?

7 () adorable (B) enviable: Tt E
(C) cleanse inspi o ' .

& Wthh of the following is a page related to chocolate?

(A) Earth Loaf

(D) inspired

(B) TasteMade

(C) Buzzfeed Tasty (D) Tiny Kitchen

143. The word with the meanlng opposrte to shamefully in the passage is -
N . =

(A) enviable _ (B) weaknesses i
(C) unabashedly | ' (D) shymg REALY
144. Match the sentences in the Column (A) with appropriate prepositions in Colurn (B) - \

Column (A) ’ - Column (B)*
" (Sentences) &i\h ; (Preposntrons)

(a) The tram met ... ... an accident. » | (i) for A

(b) Such an idea would never occur @\rd«o . me. (i)in O

(c) He has been in this office ;&,{ ....... e @ YA, (iii) with” *

(d) Wise people do not believe ................. superstitions. | (iv) to

1BY(a) - (i), (b) = {iv), (c) - (i), (d) - (ii

B) (@)= (iv); (b) - (i), (c) - (i), (d) = (ii)
(©) (a) - (ii), (b) - (iii), (c) = (iv), (d) - (i)

(®) @) ~ i), (b) - i), (c) - (i), (d) - (iv)
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145.

146.

147.

148.

149,

Fill in the blank space with the correct phrasal Ve’b from the glven options —

" The meeting was ..o because of bad weather
(A) called off - (B) call back

(€) calledin ' (D) called back

What is ‘Pseudonym’ in letter writing?

(A) Fictitious.name (B) Name of the Editor
(€) Legal name ‘ (D) Real name

Choose the correct English translation ~of the given s'e.ntence =
ﬁmﬁwﬁimmﬁmmqﬁaﬁ?ﬁﬁwémil
(A) Itake out my shoes and socks at the time of entering my room.

——

(B) 1take off my shoes and socks whlle entering my room.

(C) Itake out my shoes and socks before | enter my room.

(D) 1 take off my shoes and socks before entering my room.

Fill in the blank space with the correct determiner -

..................... friends he has are sincere.

PRS-

(A) The little ~ | " (B) Much

(C) None (D) The few"

Choose the most appropriate option -

* Ashin said, “Shall I'ever win a gold medal?” (Change into Indirect Speech)

150. Choose the alternatlve WhICh best expresses the meanmg of the underllned idiom/ phrase =

(A) Ashin exclaimed if he shall ever win a gold medal.
(B) Ashin said that shall he ever won a gold medal. B
(C) Ashin asked if he shall ever have won a gold medat

(D) Ashln wondered if.he would ever-win a gold medal.

The winning team decided to go for the |ugu|ar in the last quarter of the match.

(A) \give reserve players achance .. (B) forfeit the match

(C) attack all out

team o

(D) give easy opportumtles to the opposite



